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23 5CaETEHugHGL Lweatu(hss Couamr®b. ULRSE udrausnE
Quenfled LweTL(HSSaeyLb.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

Qeuelammssrer B S LGSHsmand Clsmamgl.

This question paper contains four parts.

L@S - 1 /PART -1

() Simensgl NassEnsEn el weflEsa|. 14x1=14

(i) Qsr@&sULL(Harer wmHY edenL_sefler Wsad ghyemLw el Wemars
CapesHdes @GP HLer el wimanbd Cardg 6r(pseyw.
(i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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R={(x, %) | x Qyeng 13 @ L& GOpeuren LGT GTE@TEHET) 6TEND 2 peflen
eSFFFEIDTNG) !

(1) (23,5, 7) (=4) (2, 3,5,7, 11)

(@) (4,9, 25, 49, 121) () (1,4,9, 25,49, 121}

The range of the relation R={(x, ¥2) | x is a prime number less than 13} is :
@)y {2.3.5,7) (b) (2, 3,5 7 11}

() (4,9 25,49, 121} (d) {1,4,09, 25,49, 121}

n(A)=m wPMO n(B)=n erafle) B -mHg A -&@E cwerumssLIULL sriysafer
Qurgg crawmeaniidEams :

(1) m" (<) n™ (@) 2" -1 () 2mn
Let n(A)=m and n(B) =n, then the total number of functions that exist from B to A is :
(@ m" (b) n™ © 2™-1 (d) 2mn

wéeiligen auGsse goans Caposderuy, a wHnpw b e Was WPWEsEHEES,
sflgs Wens Wséser q LHMID 1, a=bg+r eraMPEITN Si@WLULWLTETD, @RE
I QG :

(=) 1<r<b (=4)0<r<b (@) 0=r<b (7) 0<r<b

Euclid’s division lemma states that for positive integers a and b, there exist unique positive
integers q and r such that a=bq+1, where r must satisfy.

(@ 1<r<b (b) 0<r<b (0 0=r<b (d O0<r=<b

em sl ®s dsri cuflemsulien 6 cug 2 mnder 6 LLEEGW 7 ug 2 miler
7 bLREGD &b rafle), J&aml (5 Qsrireuflasufer 13 ug 2 muiy :

(1) 0 ()6 (@) 7 () 13

If 6 times of 6 term of an A.P. is equal to 7 times the 7t term, then the 13" term of the A.P.
is :

(@ 0 b) 6 © 7 (d) 13

x2—2x—24 wPMID x2-ky—6-wlen B.Qum.eu (x—6) erafled, k-uldenm wHOY :

(1) 3 ()5 (&) 6 () 8
If (x—6) is the H.C.F of x2—2x—24 and x2—kx—6, then the value of k is :
(@ 3 (b) 5 () 6 (d) 8
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@@ Blred sjemiufer, Hleny Blyed wrhy e :

(=) SA0EG awfl (=) epemevallL ojewfl
(8) Hréd siemfl (7)  Bleoy siewfl
Transpose of a column matrix is :

(a) unit matrix (b)  diagonal matrix

(c) column matrix (d) row matrix

L gdlar QETHCETHL BB QYT CskEGESTE DewLD @LLD |

(1) @wwid (<) Gg® yerafl
(8) wyeid (FF) it

A tangent is perpendicular to the radius of a circle at the :

(@) Centre (b) Point of Contact
(c) Infinity (d) Chord

7x—3y+4=0 erenp CHpiGaTiyhE Qearurseb diydreal auflé Qgdgid
CrrGamigem gemUm( :

(=) 7x -3y +4=0 (=) 3x—7y+4=0

(@) 3x+7y=0 () 7x—=3y=0

The equation of a line passing through the origin and parallel to the line 7x—3y+4=01s :
(@) 7x-3y+4=0 (b) B3x—7y+4=0

() 3x+7y=0 (d) 7x-3y=0

(0, 0) wHmD (-8, 8) erap Yeraflaamer Qaams@hn Carlun@és CemGssrar
Camligern Friie] : ' '
1
(<) -1 (2)1 (@) 3 (F) -8
The slope of the line which is perpendicular to a line joining the points (0, 0) and (—8, 8) is :

@ -1 ® 1 © 3 @ -8

@m Camyrsdler 2 L@ sigen Hlipellen BarsdnEh 2-atar elldlgd 3:1 erafle,
Gflueeans sramibd gpn&Caranm Sjereurang) :
(1) 45° () 30° (@) 9 (%) 60°

If the ratio of the height of a tower and the length of its shadow is \/3:1, then the angle of
elevation of the sun has measure :
(@) 45° (b) 30° () 90° (d) 60°

[ Y& / Turn over
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15 Q&.18. 2 wrapd 16 Gg.18. eNLqpb AaTaTL G Crireu L Faldldle euenemLTLIL] :

(=) 60 m §.04.15. (=) 68 ™ &.018.15.

(@) 120 m 5.Qs.5. () 136 7 &.Qs.85.

The curved surface area of a right circular cone of height 15 cm and base diameter 16 cm is :
(@) 60 mcm? (b) 68 w cm?

() 120 w em? (d) 136 7 cm?

1 Qg.15. gy, 5 &8, 2wy AerarL gm wy e Haarulambs HHeELLES
san erey GararL Csremd Qeully arH&sLLGEADSG eraflldd gen sanr eTey.
(5.Q8.85. -o)

(o) 37 (@) 5 (@) 5 (7)

The volume (in cm3) of the greatest sphere that can be cut off from a cylindrical log of wood
of base radius 1 cm and height 5 cm is :

4 10 20
@ 37 ® 37 © 5w @ S

QasrH&sLUULLmeudetle) 6Tg Seupmeng ?

(1) P(A)>1 (<) 0<P(A) <1
(&) P(¢)=0 (7) P(A)+P(7)=1
Which of the following is incorrect ?

(@) P(A)>1 ' (b) 0=<P(A)=<1

(©) P(4)=0 (d) P(A)+P(a)=1

@ uerrlenuuied ¥ 2000 Cpri@aar 10-w, T 500 Crm(iser 15 -1, T 200 CrriHaEer
25 -1b 2 aemar. @ CHTL@ Fweaumiiy weapwild a@assuuBdamg eaaflew, 2ibs
Grr_® T 500 CoriLraGeur eag T 200 CrriLraCaur @muusharer Hapsse,
erénan ? A
1

(<) 5 (@) 15 @) 3 (") 5

A purse contains 10 notes of ¥ 2000, 15 notes of ¥ 500 and 25 notes of I 200. One note is
drawn at random. What is the probability that the note is either a ¥ 500 note or ¥ 200 note ?

3 2 4
@ 3 ® 15 © 3 @ 5
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u@g) - 11/ PART - II

GOLY : aemeuCuenib 10 eSlerrés@éE e walésab. dam aran 28 -6@

sLLnmwwns afenwellgseab. 10x2=20

Note : Answer any ten questions. Question No. 28 is compulsory.

15.

16.

17.

18.

19.

A=({1, 2, 3} LOMID B={x|x eretiug 10 -g el & APW UST eram} erafled, AXB -5
SIS,

Let A=({1, 2, 3} and B={( x|x is a prime number less than 10}. Find AxB

f(x)=2x+1 LHWYWD g(x)=x2-2 erafled fog LHMID gof -B& ST

Find fog and gof when f(x)=2x+1 and g(x)=x2-2.

@ pufb 532 yHQsriysdr o drarar. el auflessg 21 UEAsT gadr aisib
2IH&8& fmwGeni. erégamen auflensaer ey CUMID Tl WHDID TESHET
YHOsT 1y HeT BFOBEGD eTaayd STETS.

A man has 532 flower pots. He wants to arrange them in rows such that each row contains
21 flower pots. Find the number of completed rows and how many flower pots are left over.

Sl (Hs : +

21 20 " .
A= [1 3), B= [1 3) erafléd AB wpmib BA sraws. Cugid AB=BA eratug sflwm

GTET <TG

0
If A= [f ;J, B= G 3] find AB and BA. Verify if AB=BA.

[ ®UYs / Tum over
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20, Qer(®&sUULL ULSHO ZA-ufen Qmewleaily AD &@Ww. BD=4 Q&.8.,
DC=3 Qs..5. wpmIb AB=6 Q&.18. erafled AC -mé sreims.
A

B10s.8. D 3Qs.8. ©
In the given diagram, AD is the bisector of ZA. If BD=4 ¢cm, DC=3 cm and AB=6 cm,
find AC.

A

&

B Zcem D 3cm C

1 .
21. (-2, a) wpmd (9, 3) eremp Yeraflser auflEtewgud CpiGarigen smua ~ 5 erafled
a -Wen Ay sraws.

1 '
The line through the points (—2, a) and (9, 3) has slope — 5 Find the value of ‘a’".

22. x-2y+3=0, 6x+3y+8=0 Hw CriGasradr qamstaran QsmEGSSTaTama
eTans ST_(hs.
Show that the straight lines x—2y+3=0 and 6x+3y+8=0 are perpendicular.

23. 5043 8. e.wreperer @m urepuler 2 &fWambs 30° @néss Caramsd e
serugieter wéwhg gam uTTEELULOHDS afld, WAWHHDEGL LTMDEELD
@ Cuujearer Ggrerameusd srears.

From the top of a rock 50v/3 m high, the angle of depression of a car on the ground is
observed to be 30°. Find the distance of the car from the rock.
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@m Gsrerhusefler g rhsefien ellfgn 4: 7 erafléd seupilen sar siereyseaflan 698sin
ST, M

If the ratio of radii of two spheres is 4 : 7, find the ratio of their volumes.

@@ Fblen QL ssam s mywrd 5 Qs.8 @L. SIS QM < riser 4 0s.8
wHmib 1 Qg5 erafle), QenLsaam_sHen cueneTLFLINULS STERTS,

The slant height of a frustum of a cone is 5 cm and the radii of its ends are 4 cm and 1 cm.
Find its curved surface area.

QarHd&siulL ureuelen eiéss srams.

el
8l 16-18 [ 18-20 [ 20-22 | 22-24 | 24-26 | 26-28

(eumL_ruseaflen)

LomewuTeUTS 61Tl 6T

6T6UUT6uDT & 61 5

Find the range of the following distribution :

Age (inyears) | 16-18 | 18-20 [ 20-22 | 22-24 | 24-26 | 26-28

Number of Students 0 4 6 8 2 2

@ saLwlgidrar 80 wEpser, 70 Heuliy wHmb 50 Qeuetenatll L&safel®BbS
swaumiliy wpepuied @ u Caib0sm&Eh Curg <igl wepsar ApU yeurs Qmhés
HEDps56| STETS.

A flower is selected at random from a basket containing 80 yellow, 70 red and 50 white
flowers. Find the probability of selecting a yellow coloured flower.

J2, 8, V18, 32, 50, ..... eranp Qsrifreufes @@ @LGF0sTLTeufleswr
Qaoamawr aalmg Cerdéss. Q& @@ FmLBs0sTiieuflos aafld ga QuTg

NsHwNED Srews.

Check whether the sequence J2, J_§, J18, /32, 50, ...... is an A.P or not ? If it is an A.P,
then find the common difference.

[ Hmuys / Turn over
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u@S\ - 111/ PART - 111

@OLY : aemauCuenb 10 elainésEpéE o wellésaib. dlanm aan 42 -&E

Note

29,

30.

31.

32.

sLLmuwns efenwefl&saw. 10x5=50

:—-Answer any ten questions. Question No. 42 is compulsory.

A eranug) 8 - L& Ge@paurer @ue ceamsafler s, B oratug 8 -g oilLé
Gopeuran UsT eransaflear samd wHmib C ereamug @rleLl Ll LU&T GT BT g6l 6ot
semd erefled (A N B)xC=(AxC) N (BXC) eramueng aflumi,

Let A = The set of all natural numbers less than 8, B = The set of all prime numbers
less than 8, C = The set of even prime numbers. Verify that (A N B)xC=(AxC) n (BxC).

f: A > Bereamp sriurarg f(x) = ?25—1; Tar aumrunssuu@dng. QuE,

A=1{2,4,6,10,12), B={0,1, 2, 4,5, 9} 25 Qm&EwLGUrg &riy f -8 GeramLwd
wpepsafley Gh&s.

() ouflenss Camgameflen seanTid (i) oL euanant

(i) SbYSEGH ULLD (iv) euenyuLLD

Let f: A — B be a function defined by f(x) = %—L where A={2, 4, 6, 10, 12},
B={0, 1, 2, 4, 5, 9}. Represent f by '

(i)  setof ordered pairs (i) a table

(iii) an arrow diagram (iv) a graph

Pl x P,? x Py? x P, '=113400 @WE Py, Py Py Py TG g auflensufier
SIDDHS LET Te@EeT OHMID Xy, Xy Xy, Xy TETUAT (P(PE&ET GT@lléd Py, Py Py Py
LOMID X, X, X3 ¥4 QFweupBlen WELLS®ETS SIS,

If P1x1 X P;z X p3x3 X P 41‘*:113400 where p., Py Py P, are primes in ascending order

and xy, xp, x,, x, are integers, find the value of p;, P,y Py P4 and xy, Xy, X3, Xy,

&L@ﬁiﬂ) SIS, 62+ 72+82 4 +212.

Find the sum of the series 6%+ 72+ 82+ +212,
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g
A=[1 : 1] ;

2 -1 1| L0OOD B=|-1 4 | eafléd (AB)T=BTAT erenmuengé sfluniés.
0 2
ol 20 2 -1
“l2 -1 1/ad B=|-1 4 |, show that (AB)T=BTAT
0 2

Carenr @peweuysy Copnsms o Himieys.

State and prove Angle Bisector Theorem.

(—4, =2), (=3, k), (3, —2) wpmid (2, 3) YHw enaramer auflwsurss CameaT
Brpsrgdler Ly 28 & d@ser erafla, k -uler wHlwus srams.

Find the value of k, if the area of a quadrilateral is 28 sq. units, whose vertices are taken in the
Order (—4; _2): (_3! k)r (3; _2) and (2, 3)

(=3, 8) eremmm Lerafl auflF CFeeugibd, < Fssaflean s Qaul B samBsafier
ga(hge 7 e wgorer CrrCsmiigen FwaUT L& STems.

A line makes positive intercepts on coordinate axes whose sum is 7 and it passes through
(—3, 8). Find its equation.

. 3 3 e 3
@@51555: smA+cosA+ sin"A — cos"A
sinA + cosA sinA — cosA

=2

Prove that : Sin?’A + cossA + sin3A - cosaA

=2
sinA + cosA sinA — cosA

prgen eremp QumrBlufiwe wremeul @i 2 (Heneruder QMHUDEPLD FalbLE6T 2 eTareumm)
wréfl gerenn 2 @Heursfanrit. wrHfden Berd 12 Qs.8. wHMID AL b 3 Qg.15.
2GW. gaubeur sabler 2 wyub 2 Q&5 QMmEGLTaTd B o (meumsdw
wrfluilen ser jeTemeus srams.

Nathan, an engineering student was asked to make a model shaped like a cylinder with two

cones attached at its two ends. The diameter of the model is 3 cm and its length is 12 cm. If
each cone has a height of 2 cm, find the volume of the model that Nathan made.

[ ®muys / Turn over
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39. 16 Qe.8. Sreperer @i 2 Carsl upgl, e-BEsLULE 2 Q.8 reperer Sy
UBGISETTSESUULLITED, erdgmen LpgIsaT &L &@o ?

A metallic sphere of radius 16 cm is melted and recast into small spheres each of radius 2 cm.
How many small spheres can be obtained ?

0. spwr wHYL AFwr meuw 5 uTLEselld Qupp Qs W LICILG@TEE
weonGu 460 LHYID 480 Y GWL. CLYL g HLL dwssmsda WopGw
4.6 wHmb 24 erafled, wrpeLw Cawadper, BGHs Hows samw QaraT g ?

The total marks scored by two students, Sathya and Vidhya in 5 subjects are 460 and 480
with standard deviation 4.6 and 2.4 respectively. Who is more consistent in performance ?

41. g oulé 5 Haliy Hpl LUHSSEEW, 6 Ceustaner Hnl) LBSGEHD, 7 LFms HPL
UbBGISEBD, 8 smUY Hipl UBSISEHL 2 drerear. sweumiiiy wapule euulambs
20 upg TOHESLLEHDG. SIHEL LS,

(i) Goeuerenar

(i) &mUY g SHeuliy

(i) GeudTenemirg @EMLOG

(iv) Qeuetenemum&eyd, SHLILITEGEID @)6TLDE
Qmuugpsrer HEDSHEMETE SIS,

A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn at
random from the bag. Find the probability that the ball drawn is

(i) white
(ii) black or red
(iii) not white

(iv) neither white nor black
42, (x—=1)%2+(x=2)2+(x—3)2 = 0 eranD SOG4 6l (PORIGETEN SETNDEDWI Y TTUIE.

Determine the nature of the roots of the equation :

(x-1)2+(x—-2?>*+(x-3)2 =0
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u@#) - IV/ PART - IV

Answer all the questions.

(91) @Igliugsd BC=8 QF.15, ZA=60° whmd ZA -ufler @mswdeuliqwreang

BC -g D eranp yerafluled BD=6 Q&.18 erempeurny spdsdpg erafle,
p&Gamamd ABC euenys.

360605

()4 Qa8 gyreperer el Lid auenrhg 2Ase @wLWHHOBHE 11 GF.H8

(a)

(b)

Qsrevaefgierer @ Yetaflenwd @dg, Suyerallelmps el Ls8H@E
Qraw(® QsTOCasTHS&ET UMTS.
Draw a triangle ABC of base BC=8 cm, £A=60° and the bisector of ZA meets
BC at D such that BD=6 cm.

OR

Take a point which is 11 cm away from the centre of a circle of radius 4 cm and draw
the two tangents to the circle from that point.

(=1) 22-9x+20=0 eTenmn @(HLIGF FOELITL 136l QUMTLILLD cUMTHS ST EHELD

Teysaflen Seenals sams.
& ol

YNV

(=) @m Cumbsl 50 &.15/wenfl eremm &yran Cougsdler Lwalsdng). QSAsmi ésrar

(a)

(b)

gnyo-Grrb euenruLLd euanyhgl, aTeumeuaTeunennd &reaws.

() eldlsew wrhdlews srams.

(i) 90 Hlufl_msefler LwellEEw gy ereueuerey ?

(iii) 300 &..5 gnrsems Lwellés ereuauatey CHID Y@L ?

Graph the quadratic equation x2—9x+20=0 and state the nature of solution.

OR

A bus is travelling at a uniform speed of 50 km/hr. Draw the distance - time graph and
hence find.

(i) the constant of variation.
(i) how far will it travel in 90 minutes ?

(iii) the time required to cover a distance of 300 km.

-00o0-
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